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GCSE Mathematics
Practice Tests: Set 5

Paper 2F (Calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.

Instructions

e Use black ink or ball-point pen.
¢ Fill in the boxes at the top of this page with your name,
centre number and candidate number.
e Answer all questions.
e Answer the questions in the spaces provided
— there may be more space than you need.
e Calculators may be used.
Diagrams are NOT accurately drawn, unless otherwise indicated.
e You must show all your working out.

Information

e The total mark for this paper is 80
e The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice
» Read each question carefully before you start to answer it.
e Keep an eye on the time.
e Try to answer every question.
e Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working. '\ZDUJ\&J_
34 608 people watched a cricket match.
(a) Write 3ﬁl 608 to the nearest thousand.

G rowmdS UP - - BETOO Ehae

431 of these people were children.

(b) Write 4_311 to the nearest ten.
1 rowro s dgue | = L3 Bl

(Total 2 marks)

A film starts at 1830. TWW* \-5 Careun)od~Tns
The film ends at 2050.

(@) How long does the film last? 20' 8O -2houws = LB'SO
\?c‘ S-O - umx.’._} b = lf:-SO

2w T 20 sl d

(2)
Jan watches this film and then catches a bus home.
The bus leaves the bus stop 18 minutes after the film ends.
The bus takes 24 minutes to get to Jan’s home.
(b) Will Jan be home before 21307
You must show all your working.
Film endsot20:S0 | 20150
(@ons (418) 2650 % \T nawwteS = 2A1:0¥®
’LLL\\\.P‘\J (1'—‘”‘") 2\.ef 'ﬁ").L.*Mwu*:ﬂJ = 211372
Concssicn Do swee Wz ovites et a2 5
(Total 5 marks)
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3.  Harry puts sweets into bags.
He then puts the bags of sweets into boxes.

Harry puts 25 sweets into each bag.
He then puts up to 60 bags of sweets into each box.

Harry has 4200 sweets.

Work out the least number of boxes he needs.

ZSF@ &’;3 28 X 60 = \Sco p=s o eyl
(-—Lou.uvxoﬁ b:;‘(.e,s" Uzeo = ST — 2? ng&g
Corncles e’ o Hewmost have, R eexes

(Total 3 marks)
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4.  Here is an equilateral triangle.

Diagram NOT
accurately drawn

The equilateral triangle has a perimeter of 24 cm.

Three of these equilateral triangles are used to make this trapezium.

<
B <
% <
Work out the perimeter of the trapezium.
Eepl \orevad A Sides oue. Hae Sam@ . DL =2y
(+3) L=<
Newshape perimahs | S+8 T+ +% =40

............................................. cm

(Total 3 marks)
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5.

100 people played sport on Sunday.
Each person played only one sport.

The two-way table shows some information about which sport they played.

Football Tennis Rugby Nethall Total
Men (D=2 (&= 12 10 8 54
Women 20 9 =6 (@®=tl (W=ué
Total 4 (D=2 16 ©= 19 100
Olle—20 =24 @) ~ 1co=s% = w6
(a) Complete the two-way table. @ sh-re—o-8 = |2 @ sl ?3)__ I
® 166 =10 @ =T+ =@
(b) How many women played football? @ (24 = =2
...... = 5
)

(¢) How many people did not play rugby?
l\_\c;—F-Za-jL:j = eotooll + Tennts + Neteal|

- (U 4+~ =21 = 19 Qu'

- ?_i (Total 5 marks)

Practice test paper 2F (Set 5): Version 1.0 5



Scaly and. MegCure &

6. Here is a chicken on some scales.
| |
|||i|lI|I|'||i|||
0 1 2 3 -+
kilograms
The chicken weighs 2.5 kilograms.
(i) On the scales, mark with an arrow the weight 2.5 kilograms
(ii) Change 2.5 kilograms to grams. s A S.
legy= 10o0g 2-Sx 1oe0 = 2SO0
C“:‘Ows .......................... ?-‘SDQ grams
2
Hafiz is going to cook the chicken.
The weight of the chicken is 2.5 kilograms.
The chicken has to be cooked for 20 minutes for each 0.5 kilograms of its weight.
He wants the chicken to finish cooking at 1 pm.
(b) At what time should Hafiz start cooking the chicken?
Comevrg T, | DoSaghesey 58 & Blbrdf IOnonlal
1 (ots of ZOmwns = \owr
.S Lots oF 20wmains = \Wow O w3
e i . » _ a .
L et e 1 Ipe—thous HOMAS = 1290 NOnunS = 111 20
ucvit.bactonapel®’. s —_—
3
(Total 5 marks)
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Conession Grogns

7.  Mary goes on holiday to Turkey.
Mary needs to change between pounds (£) and Turkish lira.

£1 = 24 Turkish lira

(a) On the grid, draw a conversion graph Mary can use to change between pounds and

Turkish lira.
Zi=z2wl
Jsool (xse) Ko< 1200
2400 (<2) 20O = 2%l
2000 =nxs : i
Turkish
lira 1600 L
1200 FEEEHEHEE EEE SRR AR HH anx b
s00| -
400
C ' ' N
0 10 20 30 40 50 60 70 80 90 100
pounds (£)
2)
Mary changes 1800 Turkish lira into pounds.
(b) Use your graph to change 1800 Turkish lira into pounds. Dranss o Ganer
i
........ s AR RS
(2)
(Total 4 marks)
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8.  The cost of living index has increased by 30% from the year 2004 to the year 2014.

In 2004, Shola’s wage was £340 a week.
In 2014, his wage was £450 a week.

Show that Shola’s wage has increased by more than the increase in the cost of living index.

s

e Ckcw.ﬂc ae EIMEE e C\q.u-ﬂq_ - £v«So - 240 = £00
i on’ama.\ — 4310

S Lechenpe = 'D:-Z_;c_’\:c-) Qo 13’7"#&/" (#a-p)

Conclusi on 32wl S RO/ 0]

(Total 3 marks)
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9.  The diagram shows a solid prism.

Diagram NOT
accurately drawn

Write down

(i) the number of vertices

(ii) the number of faces

(iii) the number of edges

(Total 3 marks)
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10. Vicky counts the number of birds in her garden at 8 am on each of 10 days.
5 3 3 2 0 2 4 2 4 15
(a) Write down the mode.

M:,@-"FFQQ\AQI\"' TR s S -

(b) Work out the mean.
meon = ol oun mumbers S 342 + OF LG A LS

how mas()vmbm 0
<O

= BB = o

)

Vicky counts the number of birds in her garden at 5 p.m. on each of 20 days. P)V@ﬂﬂ@ F,a:,,\_ ,[-.,—dnu

She records the information in a frequency table.

Number of birds Frequency Teasta\ \owd §
0 3 @)
: b4 2 2
2 " 3 L
3 i< 4 (2.
4 1< 5 20
5 S 3 S
(¢) Work out the total number of birds Vicky records in the frequency table. 55

(Total 5 marks)
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11.  Here is a number machine.

Y
mlw
o

Input ——— x4

—— Qutput

(a) Work out the output when the input is 5.

5 —> X Y% >
= s = 273

23
1)
(b) Work out the input when the output is —5.
Ofpesites’
‘4 ¢~ -3 &— -5
= -2 =&
- -2
(2)
The input is x and the output is y.
(c¢) Write y in terms of x.
X 15 MLLH?M e =WwX
Twon we add = wxi423
3 j = W3
@
(Total 5 marks)
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12.  Here is a solid prism made from centimetre cubes.

;, ¥ /t\/,z_

03\\_ +

. |2 | S | b

(a) Find the volume of the solid prism.
cCsAa=. &

V= CStixdepttc @ VT 6 xx =(L

.............................................. cm’

)]

A cuboid is also made from centimetre cubes.
The diagram shows the bottom layer of cubes in the cuboid.

Veluse MSSing D vansions
A A i
&

The volume of the cuboid is 96 cm?®.
(b) Find the height of the cuboid.

Veluama = Lingnre widfex sy

|6
.............................................. cm
Lo.nsw = 3 )
tviddth, — (Total 3 marks)
ae =

- 2 x 2 K heigntk
Al = 6 =Weight

o 4 2 = haiqhle = &

g—
e—
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13. There were 60 votes in an election.

There were two candidates, Jared and Beth.

Jared had 18 more votes than Beth. BQJM =2
How many votes did Beth get? Javed = > 13
Totald = 60 R e+ Taredd = &0

>_ 4+ >+\8& = &G

Clleck 2o + IE =80
(-.lB) 2 3 = Y
(=) p - = 2| =Ret

(Total 2 marks)
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14.  Bill has some models of meerkats.
He has models of meerkat children and models of meerkat adults.

Bill has twice as many models of meerkat children as models
of meerkat adults.

He has a total of 30 models.
Each model meerkat child has a value of £2.80

Bill’s models have a total value of £98.00
Each model meerkat adult has the same value.

Work out the value of a model of a meerkat adult.

meerkat

Mmea ot aduuds = B
e e et clnd lduwen, = 2N
To+ad = S
e 42w T A0
CotioCht 3x. = =o
+3) 2. = 1O - adwik S= (0, Ualldren =20
Rrof ah nilolren 1ox £2.80 = £S6
Totad price = £4Y £9x -£S6 = #uL
Pre vfiGLU- oLcQu)/l.'Y:;_fq.?_ {LL'L;: Yo = 'éu.?_o per adutk
——

(Total 4 marks)
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15.  Sueis driving home from her friend’s house.
Sue drives

240 miles on the motorway

10 miles from her friend’s house to the motorway D
5 miles from the motorway to her home & l

Sue
takes 20 minutes to drive from her friend’s house to the motorway
drives at an average speed of 60 mph on the motorway
takes 25 minutes to drive from the motorway to her home

Sue stops for a 30 minute rest on her drive home.

Sue leaves her friend’s house at 9.00 am.

What time does Sue get home?
You must show all your working.

—S&fm-t\' Tourney 2 Tournry 3
5 ‘-7-“—2 S': QOMP\/\ S= ?

D = 1Owlas D= 2UOm D= Smles

T = 20muns - .? W Blndat

. X \
We Tust nuech Hre dorel Fume o odhjerny Ports]

T= 20mss + 7 £LSuns

?:,E_ D o DN S
) CO My

2 - rous | T = 20mas Alhows LS ot = Whass WSnwns

(+:’OMM&+) 7= Uhars ‘l.pS—MM ’|’30(\MMS = GRS e YA
Homa Tw@el 9:00am+ Shaws [Smwnt = Ik|S
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16.  Lisa wants to buy some cola for a party.

She is also going to buy some burgers and some buns.
Cola, burgers and buns are all sold in packs.

There are

8 cans of cola in a pack
12 burgers in a pack
10 buns in a pack

A pack of cola costs £3.95
A pack of burgers costs £4.95
A pack of buns costs £1.95

Lisa is going to buy the same number of cans of cola, and burgers, and buns.
Lisa sees this special offer for cola.

Cola Offer

Buy two packs of cola
Get one pack free

Work out the cheapest total price Lisa pays for the cola, the burgers, and the buns.
You must show all your working.

Lemod &,100nat V2 @ 6 2@ 3L LO LY Se Gu FL BO Frasiok 1 120
' IO 20 3 %0 So 66 o RO Qo (oo 112 120

L ew 5= &b G L 3w &6 8 120
QLM =D

Faoes needool | 12028 = ISpaucs ot colos
1205\ = |lo packd of ouge/T
20710 = 12 Pacles of buns

Pn'ca. Pof ealn ' Bugefs 1o x £ 4.95 = £\WA-SO
Buns 2% & 195 SR V0, TR —
Cola ZpackeS+\ frae = 3packs (o pracfigtal 6 marks)
Bhocs3 = 5 ser =F e o= Speces fo parfer
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Answer ALL questions.
Werite your answers in the spaces provided.

You must write down all the stages in your working.

1. Change 4.5 km? to m?.
b = LOCOO R~

5 Z.
, 2 3 = L000ooO M
5 I)m -:GOOO) IV\L = e 2 ’

) 2
: — oo
C‘K-Q--g) L| Stkm  — Li-,‘SC)O; o m

(2)
(Total 4 marks)

Carol and Delia share some money in the ratio 3 : 8

Delia gets £325 more than Carol gets. Eeho el Prcmhm
Work out how much Carol gets.

(o Difference un porks = S porks

(Rﬂ:PCh/ES\CV\ Differonc_wna’ mth I PN

S EBLS = SpartS

(=) 265 = | part “
S
i T—’:SP(JJ‘H é& :‘—3(3&A‘J 7 SO St A

———

(Total 2 marks)

Practice tese paper 211 (Set 5): Version 1.0

[§¥)



Cermpond nlenost-

5. Viv wants to invest £2000 for 2 years in the same bank.
The International Bank The Friendly Bank
Compound Interest Compound Interest
4% for the first year 5% for the first year
1% for each extra year 0.5% for each extra year

At the end of 2 years, Viv wants to have as much money as possible.

Which bank should she invest her £2000 in?

IndemoiNonod Bane Friendiy 2onle

6@0{3 F\vsi j&v: 20O X\ ot =20l Bk of fver yeor: #+2cco <(.os=F2 1
Endl of Sl yo0r: #2080 % 1-0\ =£2m10) Mo@S&aﬂpﬁﬂf:{Zt@Om t-:coS = F210.50

e

CondsasSian @ F—.emdL& Renl shawnld ko
Hrne loale Vv sele s,

gty

(Total 4 marks)
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3. Onc day Sadie and Gohil both buy petrol and oil from the same petrol station.

Sadie buys 30 litres of petrol and 4 litres of oil.
Sadie pays a total £46.00

Gohil buys 24 litres of petrol and 8 litres of oil.
Gohil pays a total of £45.20

Find the cost of one litre of petrol and the cost of one litre of oil.

Socke - (D 20 vho = £l
Gohil: @ | 2up +fo = £4S.20

S e Cpposi s
@\.{E}_: @ COp vBo = £92 5

26¢ = 4. 30
(=26) P = %120

Put P=4£120 paldls | iy pt+ 8o = 24s.20
24(130) + 8o =#£4S20
2020 +8s = FUS. 20

(-21.2.0) Co =7E\4

(2 €) o =%\
Petrol £...... IQ’O .............................

(Total 5 marks)
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7. Inasale the normal price of a book is reduced by 10%.
The sale price of the book is £4.86

Calculate the normal price of the book.

100%e =10 %/ =4A0%/s

£t €6 = B
(:a0)| #0-OSk = 1%
(xoe0)| £5.10 = OO/,

(Total 3 marks)
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4.  The diagram shows 3 sides of a regular polygon.

Diagram NOT
accurately drawn

// "\@\

Each interior angle of the regular polygon is 150°.

Work out the number of sides of the regular polygon.

Ex-\.e;icr—k\mk-eﬁcr:: 1ge® Exteior +150° = €0’
= S (&}
(-157°) | Edena = 2O

Sumof exdiers = 360 | - % =f =¥

(Total 3 marks)
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